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O1.9et==2Hl 10,900
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202 O4dl 8,640 8,640 0
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09 BALAHIE &= 2,960 2,800 160
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< 1,500
Al 6,000
11T MISRAISEX 7,500 7,500 0
OAl&0tEs W=t XI& 7,500,000 7,500
S 1,500
Al 6,000
ANE0ts WSXME(EX) 4,000 4,000 0
< 1,200
Al 2,800
307 gl2tol & 4,000 4,000 0
< 1,200
Al 2,800
11 ALS S XAEE = 4,000 4,000 0
OAHE0tEs =AML XA 4,000,000& 4,000
< 1,200
Al 2,800
ANE0tE JIsusHI(EX) 3,000 3,000 0
< 900
Al 2,100
307 glz2+ol & 3,000 3,000 0
< 900
Al 2,100
11T MISXAISEEX 3,000 3,000 0
OAlZ0ts Jlsu=dl X& 3,000,000& 3,000
< 900




SN BMRSD
Hu: 2% 0l 2 BMEAMNISN/2S - FIELHY)
©el: oS =X X (el @ e)
- _ = dE & =
£ HH -G () - HEMY - BdS Off &F o4 ol & o8 Hns2
| A 2,100
NEOIS AL BT (2 E) 1,600 1,600 0
= 480
Al 1,120
307 8I2t0| & 1,600 1,600 0
< 480
Al 1,120
TSN EEES 1,600 1,600 0
ON&OIE AZATH X 1,600,000 1,600
= 480
Al 1,120
NEOIS M4 Z2HI(2X) 17,520 17,520 0
= 5,256
Al 12,264
307 £I2t0| & 17,520 17,520 0
= 5,256
Al 12,264
ISR EEES 17,520 17,520 0
ON&OIS Azt X 17,520,000 17,520
< 5,256
Al 12,264
NEOIS 43 it (2X) 3,250 3,250 0
= 975
Al 2,275
307 £I2+0| & 3,250 3,250 0
= 975
Al 2,275
1 ASIZX A R F 3,250 3,250 0
OAN&OIS 48018t X 3,250,0008 3,250
= 975
Al 2,275
NEOIS ZX 2adl 2 ARHI(2X) 3,930 4,000 ATO
= 1,200
Al 2,730
307 8I2t0| & 3,930 4,000 ATO
= 1,200
Al 2,730
NN EEEEETIEES 3,930 4,000 ATO0
ONSOIE EH 2AH ¥ AXH X
3,930,000 3,930
= 1,200
Al 2,730
SIA0S NEIHZ(2X) 35,000 30,000 5,000
< 10,500
Al 24,500
307 8I2t0| & 35,000 30,000 5,000




FA BN
3y =2

s
I

s (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

< 10,500
Al 24,500

10 ALSISXAIEEE2EHEX 35,000 30,000 5,000
O&fla0ts HEd3d= A& 35,000,000& 35,000
< 10,500
Al 24,500

FHAHSOISNA(RX) 36,600 30,000 6,600
< 7,980
Al 28,620

301 et A= 36,600 30,000 6,600
< 7,980
Al 28,620

01 AR 2Z A5l 3 36,600 30,000 6,600
OFAAHE0IS et ysts 30,000,000& 30,000
< 6,540
Al 23,460
OFAANESO0ls w=d ¥ W=H 6,600,000 6,600
= 1,440
Al 5,160

OtsZ2XJAM NI (EBxX) 138,896 115,682 23,214
2 97,227
< 12,500
Al 29,169

301 et a3z 138,896 115,682 23,214
= 97,227
< 12,500
Al 29,169

01 MEIBEE 263 138,896 115,682 23,214
OOtsZLE X3 AHE XA 138,896, 000& 138,896
= 97,227
< 12,500
Al 29,169

LESHSIEERGNA(EX) 173,032 132,652 40,380
J| 69,212
< 31,145
Al 72,675

307 gl2tol & 173,032 132,652 40,380
J| 69,212
< 31,145
Al 72,675

10 AL SXAIEEE2EH EX 173,032 132,652 40,380
OeEsltslss 2ZAN& 173,032,000& 173,032
J| 69,212
< 31,145
Al 72,675

HOIOEE SAN=E(EX) 3,600 3,600 0
< 931




SN BUERD
H: ER 0Is & SMEH(AMIEXN/ES - IISLHA)
e OIsSEX X (2 &HH)
2 S 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 2,669
307 2iz2to| A 3,600 3,600 0
&< 931
Al 2,669
10 MM SAANEEHESIGHEX 3,600 3,600 0
OgoIEE SAAEE X& 3,600
= =y 2,400,000& 2,400
& 691
Al 1,709
RPN, 1,200,000& 1,200
= 240
Al 960
NS ESHRI 2R2YE I (BX) 435,896 384,000 51,896
J| 217,948
& 65,384
Al 152,564
307 QI2t0| ™ 435,896 384,000 51,896
J| 217,948
& 65,384
Al 152,564
AMSEXNAEHE2IH I EX 435,896 384,000 51,896
OXNGG0tsESd2)|& 29Ad
435,896,000 435,896
J| 217,948
= 65,384
Al 152,564
NS ESHRI D SAL A8 (BEX) 26,400 21,600 4,800
& 5,280
Al 21,120
307 QI2t0| & 26,400 21,600 4,800
& 5,280
Al 21,120
10 A SXNANEEHESIGHEX 26,400 21,600 4,800
OXE0IsSESHZIN & SAA /g2 &
26,400,000 26,400
& 5,280
Al 21,120
SHHIoHOtSaAH2d9(BX) 126,470 43,850 82,620
J| 50,588
= 22,765
Al 53,117
307 giztol A 126,470 43,850 82,620
J| 50,588
= 22,765
Al 53,117
10 A SAANEEHESIGHEX 126,470 43,850 82,620
Osttimsiotsade2g9 X & 126,470,000 126,470




SN B
2

=
H: B8,0t8 & SMUEHMISEX/ES - HELAHA)
Sel: OtE=X S (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Jl 50,588
= 22,765
Al 53,117
AA0ts NHEXNR(EX) 315,554 302,729 12,825
J| 220,888
< 28,400
Al 66,266
301 et d=s 315,554 302,729 12,825
J| 220,888
< 28,400
Al 66,266
01 MEI2EZE+06l= 315,554 302,729 12,825
oggots s X 279,000, 000& 279,000
J| 195,300
< 25,110
Al 58,590
OXOls HLLdEEXS 12,654,000& 12,654
J| 8,858
= 1,139
Al 2,657
Ogd=ed2t 2AXH 8,556,000& 8,556
J| 5,989
< 770
Al 1,797
ogddlsE X& 15,344,000& 15,344
9] 10,741
< 1,381
Al 3,222
QA0ts=ot=a XA 15,000 7,000 8,000
301 LAz 15,000 7,000 8,000
01 Ml2ZHE 6= 15,000 7,000 8,000
Ogedots =ot= XA 1,000,000& »15H 15,000
A A SHAXNEZXNE(EX) 940 946 AB
= 658
= 85
Al 197
301 et d = 940 946 A6
= 658
< 85
Al 197
01 MEIBEZ X405z 940 946 A6
Og, IHEE0ts AelXIEX& 940,000 940
= 658
< 85
Al 197
AL (EX) 243,000 218,291 24,709
< 24,300




FA BN
3y =2

s
I

LS (S &2)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
Al 218,700
301 et d =S 243,000 218,291 24,709
< 24,300
Al 218,700
01 MEIBEZE 05z 243,000 218,291 24,709
OJNEAEL XA 243,000,000& 243,000
< 24,300
Al 218,700
PSEPNEDIE-PE-TEES) 1,800 6,944 A5,144
S 180
Al 1,620
301 YerE A3 1,800 6,944 A5,144
= 180
Al 1,620
01 MEIBE X263 1,800 6,944 A5, 144
OENSENEP/FSPIE-] 1,800,000& 1,800
& 180
Al 1,620
OfElolg 2T A X 30,000 30,000 0
307 21201 & 30,000 30,000 0
11 AL S XAEE = 30,000 30,000 0
Ooegolg Jlg 2 &R A 30,000, 000& 30,000
CEHAEEANY(EX) 515,897 479,889 36,008
= 350,000
Al 165,897
101 1Al 234,227 227,227 7,000
= 130,320
Al 103,907
04 JIZtHNZ22HEE+ 234,227 227,227 7,000
OEEAEE QIZIMEZ 0N H 234,227
] 1,800,000 «7H «12& 151,200
= 86,400
Al 64,800
“AN2RZ2ReE 8,500& 7 20 Al 2t+ 128 14,280
= 8,160
Al 6,120
-AHEE JI2RE=3 151,200,000 *11.5% 17,388
= 9,936
Al 7,452
-H Ot & 55,0003 x7F 7L 2,695
-EE F Ol 500,000& »7H 23] 7,000
- R FAAHI 20,0003 «7H =10 128 16,800
= 9,600
Al 7,200
—WSEA A 60,0003 +7H 3 63| 7,560




SN B
2

_‘?l_
H: B8,0t8 & SMUEHMISEX/ES - HELAHA)
Sel: OtE=X S CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
= 4,320
Al 3,240
-EAAES 1,800, 000& »7H 12,600
= 7,200
Al 5,400
-0r2t2 24 =4 7,000 7«8 12 4,704
- 4,704
2 et A | 183,070
= 154,205
Al 28,845
01 At 22l 134,934
O1.get==2Hl 129,700
-EEAEBE 23| 14,000, 000& 14,000
= 11,900
Al 2,100
SAAX Y EEE R
3,000& *1,0008 *23l 6,000
= 5,100
Al 900
-ZZ208Y 29l 109,000, 000& 109,000
= 92,650
Al 16,350
—CEAEE HAAAEH X 22|
700,000& 700
= 620
Al 80
O3.2d=¢ 1,970
—edoes e By
70,0003 x118 +13] 770
= 660
Al 110
-#IHHAE ¥ SEgAtdZel s ZAE
100,000& »1H x123] 1,200
= 1,020
Al 180
O5.2&Hl 1,680
~CHUAGERY OIA22X 24
7,000 «2Hx102 «12& 1,680
Oe6. 21z 1,584
S Al Xt 132,000& 12 1,584
= 1,350
Al 234
23224l 18,136
O1.3322LHA 10,000
-CHAEBEHUH 2222 & 10,000,000& 10,000
= 8,500
Al 1,500
O3. A& & Hl s X bl 3,500

_20_




2N
X ZH -
L= B

el

Off &t 24

=

i
2

03 A2 S HI

3,500,000

-MERSU, HEHURAL S

4,636,000 »1CH

23S 30,000,000&

H

Al

H

Al

H

Al

3,500

2,975
525

4,636

4,636
3,950
686
30,000
30,000

25,500
4,500

25,000

5,000

202 Oddl

1,920

2,880

960

0

W
=
2
=

20,0003 x2H 42 «123]

1,920

1,920

2,880

A 960

301 €EtE A=

96,680

65,455
31,225

81,680

15,000

01 A2 28 H

&
i

KNS THE HAAY =
95,000,000&

, A Eellel § F4K =
7,000 *20H 123

H

Al

= N

95,000

95,000
64,027
30,973

1,680

1,680

1,428
252

80,000

1,680

15,000

= W

3,237,636
1,618,818

485,646
1,133,172

2,977,251

260,385

307 21201 ™

= W

3,237,636
1,618,818

485,646
1,133,172

2,977,251

260,385

10 AF2I S XAl

OXgotsHE 28X

EHISSHEX

3,237,636,000&

=z N H

3,237,636

3,237,636
1,618,818

485,646
1,133,172

2,977,251

260,385

NOtSHE SAX AHZE+2(EX)

210,000

42,000
168,000

76,840

133, 160

307 21201 A

210,000

76,840

133, 160




AN BSMESD
H: B8,0t8 & SMUEHMISEX/ES - HELAHA)
Sl OtS=X S CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
== 42,000
Al 168,000
10 ALSISXAIEEE2EHEX 210,000 76,840 133,160
OXSGotsHE SAAL AHH=E
210,000, 000& 210,000
< 42,000
Al 168,000
OISSXRAIIIAXA(BX) 483,840 471,528 12,312
= 241,920
= 72,576
Al 169,344
101 @144 Hl 483,840 471,528 12,312
= 241,920
< 72,576
Al 169,344
04 D12t Z2XREES 483,840 471,528 12,312
OOtsS =X WAMIHAX & 483,840,000& 483,840
= 241,920
< 72,576
Al 169,344
ANAOtSHEHSSIZZ XA (EX) 10,000 8,000 2,000
< 3,000
Al 7,000
301 et A Z 10,000 8,000 2,000
< 3,000
Al 7,000
01 AR 2Z A5 3 10,000 8,000 2,000
OXNSotSHH stsZ2 18X
10,000, 000& 10,000
< 3,000
Al 7,000
ANE2eBHEES(SEXAMSE) 348,142 322,293 25,849
309 =2 340,242 318,293 21,949
01 SAt- SHINEES 340,242 318,293 21,949
OA&2elSE Ol0I=0tE2cett ZadE3
340,242 ,000& 340,242
404 SASHHEEES 7,900 4,000 3,900
01 SAt - SEHI=SEES 7,900 4,000 3,900
OAld2elE8E Ol0I=0tEett H=2dE3
7,900,000& 7,900
HY2AZH (BAEZEH)(IIEH/IIEL 58,604 51,764 6,840
Jl=2ZHl(BaESD) 58,604 51,764 6,840
f M2 6,464 6,764 A 300
201 €24 6,464 6,764 A 300

- 22 -




SN BNESD
M HE2IHH(SMES)(IIEH/IIE
¢ JI2dH(EMESD) (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 6,464 6,464 0
PN Let=ZHl 3,690,000& 3,690
ORN2YE =&l 1,190,000 1,190
O=ADl Xt 132,000& 12 1,584
AR FE N 47,940 40,800 7,140
202 o4dl 47,940 40,800 7,140
01 = LH o4 1l 47,940 40,800 7,140
FTRUSFANAHLE 20,0002 *17F«11L 128 44,880
OL=0E2R X bl
20,0003 x17H 32«38 3,060
R FAH 4,200 4,200 0
203 YR =2t 4,200 4,200 0
04 EA2IYRFEH| 4,200 4,200 0
ORNSYLLETY (IR :17Y)
350,000& x12& 4,200
HRES(EMESI)(ASEX/E]® - IHSLAHY) 2,300 2,300 0
HWEHAX S (BEMESD) 2,300 2,300 0
2 HE3 (&%) 2,300 2,300 0
701 JIEtSI HSEES 2,300 2,300 0
02 BILELIHNZNEES 2,300 2,300 0

2,300,000 2,300
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